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mtS=0; intl= 0 intJ=0;

while (I>=5)

{
for(J=1;J <=1, J++)
{
S=S+1;
h
I=1+1;
}

(A0 (B)20 (C)35 (D)AE%3E -

2. T oI NALZIFA[AFA[C]HA[B]) Y04 s AT EE R B AT ?
' int[]A=newint[11]; intK=0;
for (K=1; K <=10; K++)
{
A[K]=(K*K) % 7;
}
Ao ®m1  ©2 (D) 3

3. A,B 43 ;%,\4;,—_75 B FHAMABEEEL ih TR A E?
(A) NOT( A AND B)=NOT AORNOTB (B) NOT(NOT A OR NOT B)=A OR B
(C) A ORNOT A = 00000000 (DYAAND NOTA=1111111%1

4. G 4 4t = qu 3 1100 Fv 0011 » 35 3% # = 2048 4T =R 89 2 /f H(XOR)EH » Al
3t (1100 XOR 0011 XOR 0011)454 & %477 (XOR: ExclusiveOR ~ Z f &)
(A) 1111 (B)0000  (C)1100 (D) 0011

5. BREEXAPITP > BY '@’!‘HﬁﬁH**#%i*ai%ﬁl_ﬁ%zﬂéﬁﬂﬁ: ?
(A) 1751(Queue) (B) = sutit(binary tree)
(C) #(stack) (D) 4% % FI(Linked List)
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6. BAT TR EHRBLIE  JERAMT?
doublei=0; doublej=1;, imtn=7;
for (i=2;i<=n;i++)

{
I=i*(*2)/ (m-i+2));

}
(A)64 (B)128 (C)256 (D) LWk

7. FAAR—BIPAT ) 63 T 48 & 7
(A) 192.168.200.31/27  (B) 192.168.200.33/27
(C) 192.168.200.36/27 (D) 192.168.200.43/27

8. FHTHARREMRS T FWBBE ) (Subnet Mask) ?
(A) 255.255.255.0 (B) 255.255.254.0
(C)255.255.255.248 (D) 255.255.250.0

9. FHAELERIT » M ATH B K M ( transitive dépendency ) > B EHAH - £ S

IR - R E R B F % £ X (Normal Form) &) % # &

(A)INF  (B)2NF  (C)3NF  (D)4NF

10. #—F i TRAF LW FHET 64 ZMB 1 Namo ,~"Age ;22" City ;-

Name Age City

= 25 New Taipei
£ 26 - | New Taipei
£ 20 Taipei

£ 22 New Taipei
TE 24 New Taipei

TITETRALENZGESE?

(A) {Name} (B) { Name,City} (C) { Name, Age }

11. TR+ & B TR 4T 7
F(X.Y,2)=XYZ+XYZ+XYZ+XYZ
(A) X+Y+XY B X+YZ (C) X

(D) %k

(D) None of the above.
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12. $AFFHESRBA > A, 3L EAM?
' intI=0; intJ=0; int],] A=new int[4,4];
for (1 =0; I <=3; I++) '

{
A[L 0]=1;
Af0,1]=1;
}
for (I=1;1<=3; I++)
-
for(J=1;J<=3; J++)
{ , |
ALII=A[LT-1]J+A[I-1,7};
3
)

(A) 6 (B) 20 ()63 DL

13. The following code F(n). Which of the following statement is true?
long F'(long n) { _ |
IF (n=1) OR (n =2) OR (n = 3) Return n;
ELSE Return F'(n — 1)« F(n — 2) x F(n —3) }
(A) F(5)=5 (B) F(6)=9
(C) F(5) =36 . (D) None of the above.

14. Which of the following is correct? The CPU scheduling algorithms FCFS schema:
(A} is preemptive
(B) is nonpreemtive but processes can be interrupted
(C) is preemptive but processes cannot be interrupted
{D) None of the above.

15. Which of the following is correct? The CPU scheduhng algorithms RR schema:
(A) is always similar to FCFS.
(B) is similar to FCFS only when the time quantum is large.
(C) is different to FCFS only when the time quantum is large.
(D) None of the above.
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16. Match the corresponding layers of DoD and ISO models?

A. Application 1. Application
B. Host to Host 2. Presentation
C. Internet 3. Session
D. Network Access 4. Transport
5. Network
6. Data Link
7. Physical
Which is the best choice?
(A)A=123,B& 45 C<6,De7
(B)A=123,B&4,C«5 D67
(C)A=123,Be4,C«<56 D7
DA 12,Bs34,Ce56D&T7
17. The structure of Domain Name Systems is
(A) hierarchical (B) networked (C) ring (D) bus

18. Match the following:

) A. Hub 1. Data Link Layer
B. Switch 2. Network Layer -
C. Router 3. Physical Layer

Which is 1l:he best combination?
AAA< 1,Bs3,Cs2
(C)Ae3,Be2,Cael

(B)Ae3Ba1,Ce?2
(D)A<1,B«3,Cs2

19. Which of the following address is an example of a subnet address on the network

192.168.100.65 with a subnet mask of 255.255.255.2247
(A) 192.168.100.0 (B) 192.168.100.65
(C) 192.168.100.64 (D) 192.168.100.255

20. Which of the following address is an example of a broadcast address on the network

192.168.100.65 with a subnet mask of 255.255.255.1287
(A} 192.168.100.255 (B) 192.168.100.128
(C) 192.168.100.127 (D) 192.168.100.254
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21. How many ports are allowed in TCP/UTP?
(A) 16 (B) 1024 (C) 32768 (D) 65536

oy

22. Which Internet protocol is used to assign dynamic IP addresses? ‘
(A) DHCP. (B) DNS | (C) TCP (D) UTP

23. You have an IP of 140.113.131.56. The default subnet mask is 16 bits in Class B.
There is additional 7 bits to the default subnet mask. How many hosts and subnets
are possibie? ‘

(A) 126 hosts and 510 subnets (B) 510 hosts and 128 subnets -
(C) 128 subnets and 512 hosts (D) 512 subnets and 128 hosts

24. How many bytes are used in an IPv6 address?

(A) 4 (B) 8 (C) 16 (D) 32
25. In a database, a(n) field is a field that uniquely identifies each record in a file.
(A) primary key ' (B) session key

(C) secondary key (D) master

26. Which of the following command can be used to display the default gateway, IP
address, media access control(MAC) address and DNS servers?
(A) TRACERT (B) IPCONFIG/ALL (C) NSLOOKUP (D) NETSTST

97. Which of the following is one of the protocols for e-mail service?
(A) SMTP (B) HTTP (C) FTP (D) BBS -

28. Let (51.3)s + (3C.A)16 = (X)10, the value of X is .
(A) 102 (B) 101.13 (C) 101.4 (D) 70
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29. Which of the following is true for the minimum spanning tree of a graph with n
vertices? A
(A) The minimum spanning tree is cyclic.
(B) The result of minimum spanning tree is a unique.
(C) Prim’s algorithm starts from any vertices in the graph.
(D) The minimum spanning tree of this graph consists of n + 1 edges.

30. Suppose a binary free starts from level 1. Let T be a binary tree with n nodes, and
let h denote the height of T. Which of the following statement is true?
(A) The number of external nodes in T is at most 2"~}

(B) The number of internal nodes in T is at most 272
(C) The height of T is at least log,(n + 1)
(D) The height of T is at most (n — 1)/2
)
31. Which of the following running time is the slowest?
(A) T'(n) =T(n/2)+cn (B) T'(n) =27 (n/2) +cn
(CYT(n)=Tn~1)+cn (D) T(n) =T(n/3) +cn

32. Given a binary tree, its
Preorder traversal sequence: F, B, A, D, C, E, G, I, H (root, left, right),
Inorder traversal sequence: A, B, C, D, E, F, G, H, I (left, root, right);
Which is Postorder traversal sequence (left, right, root)?
(M)A, CE,D,B,H, LG, F (BYA,C,E,D,B,G, H, L F
(C)A,B,C,D,E, G, H,ILF (D) Nomne of the above.

33. Which of the following are correct that the time complexity of the merge sort and
" quick sort algorithm in the average case respectively?

(A) O(nlogn),O(nlogn) (B) O(n?), O{nlogn)

(C) O(rn?),0(rn?) (D) O(nlogn), O(n?)

34. In binary search tree which traversal is used for ascending order values?
(A) Preorder : (B) Inorder
(C) Postorder (D) None of the above.
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35. If you create a heap and store it in an array. Which of the following is a heap?

36.

37.

38.

39.

40.

(A) 5,6,8,13,17,9,15,18,22,12.10 (B) 5,10,8,7,22,4,15.6
(C) 3,4,7,9,6,10,18.15,13 (D) None of the above.

If you create a heap and store it in an array. Suppose you have the following
heap:(2,4,6,8,10,13,12]. After performing a DeleteMin, what will the heap look like?
(A) 6,4,12,8,10,13 (B) 4,6,10,8,12,13

(C) 4,8,6,12,10,13 _ (D) None of the above.

If you create a heap and store it in an array. Suppose you have the following
heap:(5,8,9,10,14,13]. After inserting the value 7, what will the heap look like?

(A) 5,8,7,10,14,13.9 (B) 5,7,8,9,10,13,14

(C) 5,8,9,10,14,13;7 (D) None of the above.

Which of the following formula is used to calculate the average case time complexity
for quick sort of n records?

(A) T(n) =T(n/2)+cn (B) T(n) = 2T'(n/2) +cn
(C)T(n)=Tn—1)+cn (D) None of the above.

(C) Which of the following is a FIFO structure?

{A) Array (B) Stack (C) Queue (D) Binary search tree

How many vertices are there in a tree if the tree has n edges?
(A)n—1 (B n (C)n+1 (D) n?







